Bellaire Boulevard Widening and Extension

Client P.O. Number: 116326

2013 Mobility Bond Projects Nos. 13302, 13303, 13304

BILL TO

Fort Bend County Engineering Department

301 Jackson Street

Richmond, Texas 77469

281-633-7506

Email

CC:

REMIT TO

R G Miller Engineers, Inc.

Attn Amy Phan

16340 Park Ten Place, Suite 350

RGME Invoice No.

engineers

18

\$2,449.50 OKITS

Houston, TX 77084

Email aphan@rgmiller.com

INVOICE

Date of Invoice:

RGME Project No.

Project Invoice No. Period of Services: 21-Mar-17

3942

73128

1/1/2017

TO 2/28/2017

TASK ORIGINAL ADJUSTED Amount of Contract Contract % Total Earned to Previously Current Contract Value Budget Budget Code Complete Date Invoiced Invoice Remaining Description BASIC SERVICES LS 100-PROJECT COORDINATION/MANAGEMENT \$59 725 00 \$59,725 00 100 00% \$59 725 00 \$59 725 00 \$0.00 100 \$0.00 \$0.00 \$132,271.00 \$132,271,00 \$0.00 200 200-PRELIMINARY ENGINEERING LS \$132,271.00 100.00% \$132,271.00 300-DESIGN PHASE LS \$167,081.00 100.00% \$167,081.00 \$167,081.00 \$0.00 300 \$152,275 00 \$0.00 \$10,749.50 Hr \$26 562 00 \$26,562,00 59 53% \$15 812 50 \$13,363,00 \$2 449 50 500 500-CONTRACT-CONSTRUCTION PHASE (See attached for details) LS \$1,756.00 \$1,756.00 \$1,756.00 \$0.00 189 Reimbursable Expenses \$1,756.00 100.00% \$0.00 \$372,589.00 \$387,395.00 \$376,645.50 374,196,00 \$2,449,50 \$10,749,50 Total: 97.23% ADDITIONAL SERVICES GEOTECHNICAL (HVJ Associates, Inc.) \$16,812.00 \$16,812.00 100.00% \$16,812.00 \$16,812 00 \$0.00 \$0.00 610 LS ENVIRONMENTAL (HVJ Associates, Inc.) LS \$4,280.00 \$4,280.00 100.00% \$4,280.00 \$4,280 00 \$0.00 \$0.00 612 Phase II ESA (HVJ Associates, Inc.) LS \$0.00 \$7,444.00 100.00% \$7,444.00 \$7,444.00 \$0.00 \$0.00 614 620 SURVEY (Miller Survey Group) LS \$46,455.00 \$46,455.00 100.00% \$46,455.00 \$46,455.00 \$0.00 \$0.00 SURVEY-Parcel Acquisition (Miller Survey Group) Parcel \$4,500.00 \$13,500 00 9 \$13,500.00 \$13,500 00 \$0.00 \$0.00 622 (\$1,500 per Parcel) Parcels 623 SURVEY-Detention Pond (Miller Survey Group) LS \$0.00 \$6,750.00 100 00% \$6,750,00 \$6,750,00 \$0.00 \$0.00 LANDSCAPE DESIGN SERVICES (Asakura Robinson Co.) LANDSCAPE CONST. SERVICES (Asakura Robinson Co.) \$2,000.00 \$2,000.00 \$0.00 630 LS \$4,000.00 100.00% \$2,000.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 Hr \$0.00 632 \$7,428 00 SW3P (R G Miller) LS \$7,428.00 \$7,428 00 100.00% \$7,428.00 \$0.00 \$0.00 640 650 TRAFFIC CONTROL PLAN (R.G. Miller) LS \$10,040.00 \$10,040 00 100.00% \$10,040.00 \$10,040.00 \$0.00 \$0.00 RECORD DRAWINGS (R.G. Miller)
TRAFFIC SIGNAL DESIGN (S.Peek Road) \$2,628.00 660 LS \$2,628,00 \$2,628 00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$50 00 LS \$18,050.00 \$50 00 670 \$18,050.00 \$50.00 TRAFFIC SIGNAL DESIGN (S Mason Road) LS \$50 00 \$0 00 \$0.00 \$0 00 672 \$132,243,00 \$117,437,00 97.68% \$114,709.00 114,709.00 \$0.00 \$2,728.00 Total: \$491,354.50 \ \ 488.905.00 **OVERALL TOTALS** \$504,832.00 ¥\$504,832.00 97.33% \$2,449.50 \$13,477,50

AMOUNT DUE THIS INVOICE:

I certify that all payments requested are for appropriate purposes and in accordance with the terms and conditions set forth in the subcontract agreement.

Approved by:

Patrick J. Roos, P.E., Department Manager-Transportation

March 21, 2017

Date

If you have any questions regarding this invoice, call Amy Phan @ 281-921-8725.

Invoice Date: 03-17-2017 Project No. 3942.TRANSO Invoice No. 73128-18

Purchase Order No. 116326

ik 100 - PROJECT COOR	DINATION/MANAGEMENT					
Employee	Title	Hours		Raw		
Amy Phan	Clerical	0.00	Х	\$62.00	#	\$31.0
Total Amount Due T	ask 100	0.00 hr	S			\$0.0
sk 200 - PRELIMINARY I	ENGINEERING					
Employee	Title	Hours		Raw		
Total Amount Due T	ask 200	0.00 hr	s			\$0.0
sk 300 - DESIGN PHASE						
Total Amount Due T	ask 300	0.00 hr	\$			\$0.0
sk 500 - CONTRACT-CO	NSTRUCTION PHASE					
Employee	Title	Hours		RATE		
Patrick Ross	Project Manager	2.00	X	\$186.00	#	\$372.0
Amber Forrest	Project Manager	10.00	X	\$186.00	=	\$1,860.0
Colin Lupold	Senior Engineer		X	\$138.00	=	\$0.0
Ted Whiteford	EIT		X	\$80.00	22	\$0.0
Tim Pho	Senior Engineering Technician	2.50	X	\$87.00	=	\$217.5
Amy Phan	Clerical	0.00	Х	\$62.00	=	\$0.0
Total Amount Due T	ask 500	14.50 hr	s		-	\$2,449.5
HOURLY LABOR SUI	MMARY:					Invoice
Employee	Title	Hours				Total
Patrick Ross	Project Manager	2.00	Х	\$186.00		\$372.0
Amber Forrest	Project Manager	10.00	X	\$186.00		\$1,860.0
Colin Lupold	Senior Engineer	0.00	X	\$138.00		\$0.0
Ted Whiteford	EIT	0.00	X	\$80.00		\$0.0
Tim Pho	Senior Engineering Technician	2.50	X	\$87.00		\$217.5
Amy Phan	Administrative Assistant	0.00	Х	\$62.00		\$0.0
	•	14.50 h	·\$		←	ėn <i>640 s</i>
TATAL MARIENTAL AS	OR FOR CONSTRUCTION PHASE:					\$2,449.5



PROGRESS REPORT NO. 18

Contract No.:

2013 Mobility Bond Projects Nos. 13302, 13303, 13304 - P.O. # 116326

RGME Invoice No.:

73128-18

Project Description:

Professional Services for Bellaire Boulevard Widening and Extension

Progress Reporting Period:

01/01/17 through 03/15/2017

Project Manager:

Patrick J. Ross, P.E.

Tasks Performed This Period (Month):

Project Coordination

None

Collect Existing Data

None

Utility Coordination

None

Design Phase

None

Contract Phase

- Respond to Information Requests
- Pavement Remove and Replace Change Order 3

Meeting(s) Held / Scheduled:

None

Deliverables:

Record Drawings submitted to Stacy Slawinski on 3/10/2017.

Problems Encountered:

None.

Fort Bend County Bellaire Boulevard Professional Services

Contract No.: RGME _ 3942 Progress Report No. 18

Tasks to Be Performed Next Period:

None

Schedule Update:

No changes to construction schedule at this time.

Design Percent Complete:

Preliminary Phase 100 %

Final Design Phase 100 %

Construction Phase Complete

Overall 100 %

t:\fort bend county\3942 bellaire_blvd\admin\invoicing\18-feb-2017\bellaire boulevard progress report_rgme-feb-2017.docx



Fort Bend County 1124 - 52 Blume Road Rosenberg, TX March 17, 2017

Invoice No:

<Draft>

<u>Professional Service</u> Task 10			tion / Managem	ent	NEW TRANS THAT AND THAT THAT THAT WAS SAND THAT THAT THE SAND THAT SAND	
VBS3 01		oject Coordina		And the sale that the the sale that the sale	ant also lock with how pile that had also said that had bein him had	
ee						
Description	Contract Amount	Percent Complete	Earned	Previously Billed	Current Billing	
Project Coordination / Management	59,725.00	100.00	59,725.00	59,725.00	0.00	
Total Fee	59,725.00		59,725.00	59,725.00	0.00	
			Total Fee			0.00
				Total ti	his WBS3	0.00
				Total	this Task	0.00
Task 18	39 R	eimbursible Ex	penses	r land dade अपने केवल केवल रेगाव देगावी केवल कावी स्थावन स्थाव	ang	क्षेत्र अर्थ कर्म सिंग क्षात्र क्षण पान कर्म पान प्रा
Description	Contract Amount	Percent Complete	Earned	Previously Billed	Current Billing	
Reimbursable Exppenses	1,756.00	100,00	1,756.00	1,756.00	0.00	
Total Fee	1,756.00		1,756.00	1,756.00	0.00	
			Total Fee			0.00
				Total	this Task	0.00
Task 2	00 Pr	reliminary Engi	neering			
WBS3 0	10 C	ollect Existing	Data			
Fee						
Description	Contract Amount	Percent Complete	Earned	Previously Billed	Current Billing	
Preliminary Engineering	132,271.00	100.00	132,271.00	132,271.00	0.00	

Project	003942.	TRANSO	Bellaire Blvd E	Pkwy Lake to La	kehead	Invoice	<draft></draft>
				Total Fee			0.00
					Total t	his WBS3	0.00
					Total	this Task	0.00
rask	300) [Design Phase				
NBS3	010) (Jtility Coordination	on			
-ee							
Descrip	tion	Contract Amount	Percent Complete	Earned	Previously Billed	Current Billing	
Desigr Total Fe	n Phase e	167,081.00 167,081.00	100.00	167,081.00 167,081.00	167,081.00 167,081.00	0.00 0.00	
				Total Fee			0.00
				i	Total t	his WBS3	0.00
					Total	this Task	0.00
Task	500)	Contract - Consti	ruction Phase			
NBS3 _abor	010)	Contract Phase				
				Hours		Amount	
CAD Technician Totals			2.50 2.50		217.50 217.50		
		rotal Labor		2.00		217.50	217.50
					Total t	this WBS3	\$217.50
WBS3	040	0	RFI Review & Re	sponse			
Labor				Hours	Rate	Amount	
Project	Manager			12.00		2,232.00	
•	_ 7	Cotals		12.00)	2,232.00	
	٦	lotal Labor					2,232.00
					Total (this WBS3	\$2,232.00
						this Task	\$2,449.50
Task	60	0	Additional Service				
WBS3 Fee	01	0	Geotechnical - H	IVJ Associates, Ir			
Descriț	otion	Contract Amount		Earned	Previously Billed	Current Billing	
(HVJ	echnical ciates,	16,812.00	100.00	16,812.00	16,812.00	0.00	

roject 0039	42.TRANS0	Bellaire Blvd E	Pkwy Lake to I	akehead	Invoice	<draft></draft>
Environmenta (HVJ Associates, Inc.)	ai 4,280.00	100.00	4,280.00	4,280.00	0.00	
Phase II ESA (HVJ Associates, Inc.)	7,444.00	100.00	7,444.00	7,444.00	0.00	
Survey (Miller Survey Group		100.00	46,455.00	46,455.00	0.00	
Survey-Parce (Miller Surve) Group)	13,500.00	100.00	13,500.00	13,500.00	0.00	
Survey- Detention Pond (Miller Survey G)	6,750.00	100.00	6,750.00	6,750.00	0.00	
Landscape Design Services (Asakura R)	2,000.00	100.00	2,000.00	2,000.00	0.00	
SW3P (RG Miller)	7,428.00	100.00	7,428.00	7,428.00	0.00	
Traffic Contro Plan (RG Miller)	10,040.00	100.00	10,040.00	10,040.00	0.00	
Record Drawing (RG Miller)	2,628.00	0.00	0.00	0.00	0.00	
Traffic Signal Design (S. Peek Road)	50.00	0.00	0.00	0.00	0.00	
Traffic Signal Design (S. Mason Road		0.00	0.00	0.00	0.00	
Total Fee	117,437.00		114,709.00	114,709.00	0.00	
			Total Fee			0.00
				Total t	his WBS3	0.00
/BS3	032	Landscape Cons	struction Service		his WBS3	0.00
					this Task	0.00
				i otai tn	is Invoice	\$2,449.50

			4 , 1-1-1-1
Terms: Net 30.	Unless otherwise stated in the contract, interest will be charged at 1.5% per monti	o on invoices over 30 days.	
Authorized B	A:		
	Patrick Ross		

Project	003942.TRANS0	Bellaire Blvd E Pkwy l	ake to Lake	head	Invoice	<draft></draft>
Billing	Backup				Friday I	March 17, 2017
RG Miller Engineers, Inc.		Invoice < Draft> Dated 3/17/2017			7:24:15 AM	
Project	003942.TRAN	S0 Bellaire Blvd E I	⊃kwy Iake to	n Lakehead		
Task	500	Contract - Construction				
	240 COO DES TO DE TO THE COO T			angu angu pung angu angu sajar salah s		
WBS3	010	Contract Phase				
Labor						
			Hours	Rate	Amount	
-	echnician	4400047	4 50	07.00	400 50	
048	08 - Pho, Tim	1/13/2017	1.50 1.00	87.00 87.00	130.50 87.00	
048	08 - Pho, Tim Totals	1/18/2017	2.50	67.00	217.50	
	Total Labor		2.50		217.30	217.50
	ioui Easoi					211100
				Total this	WBS3	\$217.50
 WBS3	040	RFI Review & Response)		W.	*******
Labor						
			Hours	Rate	Amount	
Projec	t Manager					
052	03 - Forrest, Amber	1/3/2017	2.00	186.00	372.00	
052	03 - Forrest, Amber	1/11/2017	2.00	186.00	372.00	
052	03 - Forrest, Amber	1/12/2017	1.00	186.00	186.00	
052	03 - Forrest, Amber	1/13/2017	2.00	186.00	372.00	
052 052	03 - Forrest, Amber 03 - Forrest, Amber	1/18/2017 1/19/2017	2.00 1.00	186.00 186.00	372.00 186.00	
196	02 - Ross, Patrick	1/11/2017	1.00	186.00	186.00	
196	02 - Ross, Patrick	1/19/2017	1.00	186.00	186.00	
	Totals		12.00		2,232.00	
	Total Labor	ĸ				2,232.00
				Total this	WBS3	\$2,232.00
				Total this Task		\$2,449.50
				Total this	Project	\$2,449.50